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1 L oL 100 100 2650 1

1 m7=<) 2 100 100 2650 1

1 RN 100 100 2600 3

1 valbkd— 100 100 2560 4

1 SKHEAR 100 92 2530 5

1 7L Na A 100 100 2450 6

1 AN 100 94 2360 8

1 TELH» A 100 37 2355 9

1 bPLownwg 100 91 2315 11

| 7T 100 9/ 2305 12

1 B A 100 100 2300 14

1 5 % 100 96 2290 16

1 Xx 7 KX 100 97 2265 17

1 AN 100 97 2255 18

1 77 7 100 95 2235 19

1 R—1) — 100 100 2210 20

1 55w ) 100 87 2205 21

1 bread 100 95 2185 22

1 77 bR 100 96 2140 23

| ) v 100 92 2130 24

1 marea 100 95 2125 25

1 4 E 100 97 2105 26

1 =S 100 93 2105 26

1 mmr g X 100 35 2075 28

| N o7 100 30 2050 29

1 N1))b 100 92 2030 30

1 7K 100 87 2005 31

1 KWM8 @ 100 || 98 1920 36




2D | F =1 SR | | EIR | RER | IBAI | BS
1 = 100 81 1915 37
1 2= 2 100 89 18395 39
1 R 4 100 84 1800 41
1 7= 100 71 1765 45
1 FT=rx/ 100 66 1750 46
1 A EYP) 100 73 1745 48
1 6C24K 100 85 1725 Ol
1 777 NE 100 80 1710 03
1 L~ 100 o' 1695 b7
1 Y= 3I—= 100 97 1645 63
1 N—=T A 100 71 1615 68
1 MmA Y S 100 79 1545 /5
1 tm3 11 100 b2 1440 80
1 ~ )L R A 100 ) 1375 84
1 HimE L L 100 61 1315 88
1 A IV 7 100 100 1300 93
1 H 100 49 1185 99
46 |tz 90 76 1940 35
46 [T 90 73 1895 39
46 |- L — 90 79 1745 48
46 |)NT7 T o 90 86 1700 06
46 Y u t g 90 76 1690 58
46 |5 A LA 90 70 1650 61
46 |2 9 S 90 67 1565 73
46 [HA Y 90 66 1440 80
46 | R Fx— 90 65 1425 82
46 |FR v R 90 61 1365 86
46 N 77~ 90 o1 1315 88
o7 |~V 85 95 2380 7
o7 [ 85 97 2305 12
87 |V xS R 85 97 1795 43
o7 VA Z 85 66 1790 44
87 |Hnip 85 69 1685 09
o'/ nb2?2 85 75 1625 66
687 |1 A7 85 43 1310 92
87 |HA LA 85 56 1290 94
o7 [T 85 48 1000 113
66 |SP 75 89 2295 15
66 |[&F5F L 75 87 2005 31
66 | YA 75 77 1905 38
66 | EFE 75 69 1735 o0
I 1= 75 7'/ 1705 55
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2 | F— 1 SR | | EPR | RER | IBAI | BS
66 |INAA 75 84 1620 67
66 | =a2—©h 75 53 1505 /8
66  |FEFR 75 49 1135 104
66 |Lwy 3 v 75 ) 965 115
75 |mENRE 70 86 2340 10
75 LE 7~ 70 62 1380 83
75 |K. S 70 36 1260 95
IS A4 70 46 1240 Q7
75 = 70 50 1100 109
75 |Fer 70 47 905 118
81 SHUN 65 90 1710 63
81 HH = 69 64 1610 69
81 P2 65 o' 1315 88
81 g 7] 65 42 1130 106
86 |21t ¥ 60 66 1650 61
85 I Ts 60 08 1520 76
85 k - T 60 42 1190 93
85 Lo\ § 60 45 1185 99
8 | 7ATH 60 45 1175 101
86 [t & 60 38 6950 125
91 Yy F 0o 77 20006 31
91 w2 55 45 1375 84
91 NER/A o) 40 1160 102
94 |RA% 50 o8 1720 62
9% |bTE5% 50 68 1520 76
94 LA 7= 50 42 1330 87
94 15. K 50 45 1125 107
94 [=-oh 50 34 760 122
90 |5 (X 45 66 1640 64
99 |HRERK 45 47 1065 111
9 |+ 7 45 32 435 130
102 |[EEY 7 40 02 1630 65
102 K> Ny F 40 40 1030 112
102 |22 40 17 855 119
100 |\ 35 66 1590 /2
105 7B M=E 39 63 1506 74
105 [HAZ 39 37 1315 88
105 —=— 35 63 1145 103
106 |254E® 35 27 1105 108
110 _|w—7= 30 14 450 129
1T Jsugit 25 60 1760 46
11 = 25 53 1665 60
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) SR | | IR | RER | IBAI | BS
1 |=LF—X 5 63 1595 71
11 y 25 45 1260 95
15 |F—F— 20 59 1085 110
15 20 21 826 121
17 15 29 1135 104
18 0 34 970 114
18 0 19 755 123
18 0 19 025 127
18 0 10 490 128
18 0 10 60 135
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14112195 6 | 82|96 12

Q2 1171 9 1 8 14 6 | 11

10 8 | 7 102 2 | 4 | 5
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